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15. (4) Conservation of linear momentum gives 1 1 2 2 0m m  
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Given, 1 1m kg  and 2 5 /m s      Velocity of muzzle,
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19. (1)  I P along x axis  

20. (4) Case (1)
(Px)i = mu; Py(initial) = 0
(Px)f = f = –mu; Py(final) = 0
Impulse = P  = –2mu (along x –axis) Impulse = 0 along y–axis
parallaly in case (2)
(Px)i = mu cos30°; (Py)i = –mu sin30°
(Px)f = f = –mu cos30°; (Py)f = –mu sin30°

  Impulse = –2mu cos 30°(along x-axis)
Impulse = 0 (along y–axis)
Force and impulse are in the same direction the force on wall due to the ball is normal to the wall
along positive x–direction in both (1) & (2) case.


